| Efficien

cy vs Dxy |

> 0.5

S dx
=
N
(6)]
|IIII

o
N
|

R o

efficiency v

o
[
[

025
P
e o o o ot ot

QO

T e o

........................................................................

1.

Ratio

0.95

=
!
"

"
L

—-25

TP dxy (cm)

~20-15-10 =5 0 5 10 15 20 25

—=— DQM_TT_original_Towpt

| Efficien

—e— DQM_TT_newbranch_lowpt
cy vs Dz | —— DQM_TT original_lowpt_pLe

SS
pLess

0.5
£0.45F

dz

> y
.5 0.4;—
[&] -
£ 0.35
o o
0.3F
0.25
0.2F
0.15F
0.1~

—+— DQM_TT_newbranch_lowpt_|

.....................................................................

|||.|||Fi||||i||||i|'|||.||||

gl

LA

20 -10 0 10 20 3
TP dz (cm)

0




	Contents
	Page 1


